Potencias de 10 (E)

81+0.01

84 +0.01

54-+0.01

47--0.01

52+0.01

96 +-0.01

64 -0.01

70-+0.01

3-+0.01

11-+0.01

Calcule los siguientes cocientes.

10-+-0.01

51+0.01

87-+0.01

4-+0.01

68 +0.01

45-+-0.01

28 +0.01

78 +0.01

69 +0.01

24-+0.01
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Potencias de 10 (E) Respuestas

81 +0.01
8,100
84 +0.01
8,400
54 +0.01
5,400
47+0.01
4,700
52 +0.01
5,200
96 +-0.01
9,600
64 +—0.01
6,400
70 +0.01
7,000
3+0.01
300
11-+0.01
1,100

Calcule los siguientes cocientes.

10+0.01
1,000
51+0.01
5,100
87 =0.01
8,700
4+0.01
400
68 = 0.01
6,800
45-+0.01
4,500
28-0.01
2,800
78+0.01
7,800
69+ 0.01
6,900
24+0.01
2,400
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